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09 L=t G= 1,782 1,479 303
DIl i RAR I R 1,782
2) =AM AT 27,0009 *50%+123] = 1,458
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& 724 7 u] (2] S| AH- ) 278,240 241,960 36,280
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w91 7] A H (9] 19

BA] -3 - Bl (EA) - ARA - A SR R g
DYATE FFUNATT ASE 50,0001009 = 5,000
DA = 10,000%120% = 1,200
DejA A A wgE 10,000%600%- = 6,000
D39 3]e]F w3t 10,000%2005-%53] = 10,000
1391 43] 395 437k 4,000%500%-%53] = 10,000
1) <] 3] Q] ) =} 8,000%5005-+13] = 4,000
12007\ SJAMS ezt 90,000%100%-%13] = 9,000
DA ALE AHFEETH 14,000%10%%12¥ = 1,680
Dogh = dgEy FS5oe 40,000+62 %129 = 2,880
DoAY WA 10,000%1007%13] = 1,000
DHEFEH, 2 ARFEFY 2,000,000 = 2,000
DARHE&F A7 (L A) 1,500,000 = 1,500
D7t =2 9 whxigh gy 1,000,000 = 1,000
DAHFA 2 3l e)d 3 5] 400,000 = 400
D3] TEEAA(HF EoT) 100,000%103] = 1,000
Dolggs 7153 3,150
2)4E 2,500%200% = 500
2)8% 1,000%500% = 500
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2)<13} 150%5,000% = 750
2)3] o] &3} o] 22 5,000%1007) = 500
2)3] 9|5 H o] 2 3,000%3007) = 900
DAEs A77EE e 6,888
2)5 %A 12,000+6F+15-x12¢Y = 864
2)A A 8,000%20F #2512 = 3,840
2)FA], LA 10,000+8F *1-+12Y = 960
2) A AR B P2 = 6,000¢17F 129 = 1,224
Do, 29 fIE s 5,800
)39 200,000+2%*13] = 400
2)2 4373 200,000+2% %13] = 400
2)°] ¥4 500,000%1078 x13] = 5,000
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2)21Rb ol 3] o9l el of 3] AL 3] A 70,000+59 #23] = 700
1w 7,250
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2) A A 8 100,000:2t%12¢ = 2,400
DA AR 5 700,000=2T} = 1,400
2) A5 2A 200,000+20}]%23] = 800
)9 HEE SUE dEaH 1,426
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D3 AFFH 50,000+75 %3 143] = 14,700
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DA ERa A1) 3743 2,000,000%3% = 6,000
D3| 5 Ao 3| aAw s elds 4,000,000%1% = 4,000
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10 AR R B A 9,240 9,240 0
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DA -] 4,000
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